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1. woe MaERe Ao sepif T fr - 1x8=8

Answer the following as directed :

(a) e SdREm e e SdRemy oo
of12f3y SCEy 91 |

Mention one difference between

business economics and traditional
economics.
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(b) @b RIfre w@fvs, wafos PrarTR

()

(2)

RES ST

In a planned economy, all the economic
decisions are made by

(i) I
the Government
(i) TfSToI
the individuals
(@) TR IETES I pca
the elders of the society
(v) Wit
the labourg
(o= Saach1 31fs Bfyean )
( Choose the correct answer )
BIEGE
% I Carm Ry g o |
(% T oo foraT )

(Write True or False )i

(d) Wﬁﬂﬁﬁm

P7/57s

(STerq AR

(o7 &
No change of income of g

aSsumptipy ¢ the consumer is
0
€Xplanatiop law of demand

( Write True or False )

(e)

(9)

(h)
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(3)

THIA T -SRI (@R Teeyme
@M |
( 1fe1 3% =@ 41 )
Higher isoproduct curve
_ level of production.
( Fill in the blank )

represents

i z9w oA =W B OR G@H @€
T Somie RamsR AREear sefe 2'E
O @ e (PRI
( 1 31 =7 <)
The rate ‘of change in production is
same with the rate of change in inputs
is known as __ returns to scale.
( Fill in the blank )

I T HF TR &E GO A1 SrEy 711 |

Mention one difference between market
price and normal price.

IGRT AR Serffte T 4gfeT eore
[E el
(o= 7 orem, foran )
The classification of market depends
upon the nature of the produced goods.
( Write True or False)
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Answer the following questions in brief :

\5

(S)

§]T/ Or

(b) TS GBR @ IR & R 1T ™R
| SYRSTH @A I TP T IR ? 7+7=14
@) T SRR Rme Ry .
(@) A S 4 What are the central economic
Mention the scope of business problems? How does the free market
. economics. economy solve these problems?
4. (a T R e @ 2 AR Fas
() . % I TS, o rpR R wiRw s cRae ofe viRM RRrreR v
SRR LS 2 | R ScamA F90 | 6+8=14
Draw a demand curve with the help of a What is cross-elasticity of demand?
imaginary individual demand schedule Discuss the importance of Cross-
S - ) elasticity of demand in business
. ' L . ision- i OCESS. .
(e)  TTEPTRT 2191 S*1TS 5155 Bret e | decision-making ;’ror !
Write a short note on H
n ' €Xpantio
I n path. b)) v e e B @2 Rt aere
@ IO AW b AR RewRon wife Rfemrren Rsc ST 91 1 2+12=14
WWWI : v : R What do you mean by elasticity of
et T oL demand? Discuss about the different
Discuss briefly about the external types of elasticity of demand.
economies of o T
a business firm, 5. (@) T VAR G Ao wE wRew (P
| ' & @7 B R 999 o9 I TR Seomew
3.(a)‘ﬁ($l*1?{mﬁ? il oF e geRIfe =,

g R P T wfie 01 4+10=14
What i e "F"w T 4+10=14 What do you mean by economies and
tho 1 1S price 'mechanism? Discuss diseconomies of large-scale production?

, us}‘vnp?rtapce of price mechanism j Discuss the different factors influencing
Jusiness €conomicg, n economies and diseconomies of
large-scale production.
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(6)

WWT/OI"

(b) I ARBI o Beoqrm AT R
e sy e 2041 14

Discuss  about optimum  factor
combination of a business firm with the
help of diagram. '

6. (a) '14Mﬁmwm%<weﬁm§ﬂ

(b) zrr@z:mmm@a
14
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